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qint = 3.6 degrees���������
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q ����������� IP ±1( )´ 10- 3   V� IO ±1( )´ 10- 3   V�
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�������
���� dq = - 1.0 degrees���������
�
(���
�����������������
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��������� �
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�
�
 �
�
)��*�������+��������
�������
�
��������	
����� q ��	� IO(q ) ,�
��	
�	��
�����	�*�������
���
�
x1,y1( )= - 3.6,1.1( )      x2,y2( )= 0,0.2( )        x3,y3( )= 3.6,0.6( )�

�
-����	
�
����
� y = ax2 + bx+ c�������������
������.��
��	�,�
�
1.1= a(3.6)2 - b(3.6)+ c

0.2= c

0.6= a(3.6)2 + b(3.6)+ c

second in first �    b =
- 0.9+ a(3.6)2

3.6
 

in third   �    0.6= a (3.6)2 + (3.6)2( )- 0.9+ 0.2

�   a = 0.050         b = - 0.069

�

�
����*�	�*�*����
����������������
,�
�

q min = -
b
2a

» 0.7  degrees�

�
���������/� dq = - 0.7  degrees.�
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I O(q) =
1
2

1- cosDf( )sin2(2q)
�

�
�������	�������
�������
�����
���	�� y = mx+ b/���
��
�

y = I O(q) ���/�� x = sin2(2q)���	�� m=
1
2

1- cosDf( )�
���*�������
���������*��������
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�
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�
y = I O(q) ����	��� x = sin2(2q)����
�
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4�	������� q : 0 ®
p
4

/�� x : 0 ® 1/���������	����
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DI O =
¶I O
¶IO

�  

�  
�  

�  

�  
�  

2

DIO
2 +

¶I P
¶IP

�  

�  
�  

�  

�  
�  

2

DIP
2 ��	���	����
��

�

DI O =
IO

2 + IP
2

(IO + IP )2 DIO » 0.018/������3�*�
�����
�����*������������������

�
�
�

���$��%%�

q ����������� x = sin2(2q)� y = I O ± 0.018�
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�
m± Dm= 0.913± 0.012�
�
b± Db = - 0.010± 0.008�����������������������
�
�������*���������
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m=
N xnyn -

n=1

N

� xn
n=1

N

� yn¢
n¢=1

N

�
D

�

b =
xn

2 yn¢
n¢=1

N

� -
n=1

N

� xn
n=1

N

� xn¢yn¢
n¢=1

N

�
D

�
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D =N xn
2 -

n=1

N

� xn
n=1

N

�
�  

�  
�  

�  

�  
�  

2

�

�
��
�� � ��
���	�*���������
�����	
���
�����	���
��	
������������
������
�

Dm( )2
= N

s 2

D
���/��� Db( )2

=
s 2

D
xn

2

n=1

N

� ��������
�/�

�

s 2 =
1

N - 2
yn - b- mxn( )2

n=1

N
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����	
������ 0,p[ ]��

)��*�
��������� m=
1
2

1- cosDf( )/��	����	���
Df ± D(Df ) = 2.54± 0.04�������
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Dm=
¶m
¶Df

D(Df ) =
1
2

sin(Df )D(Df ) /�
��������/�� D(Df ) =
2Dm

sin(Df )
���
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�
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�
�������8�2������������ ���������������� n1 - n2 ��
�

�%� -��
�����	�
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�����������*������������/�

�
L ± DL = (100±1) ´ 10- 6 m�
�
-��
�����	�
���������	�
���������/�
�
l ± Dl = (663± 25)´ 10- 9 m ����*�'�����*����
�
6������
��
����������	��	���
�
n1 - n2 ± Dn1 - n2 = (3.94± 0.16)´ 10- 3�
�
�
�����������	��	��������
���	�����!��	���������7�*�	 �������������#�
�
-��
�����	�
������*������������������
����������
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2p - D f =
2pL
l

n1 - n2 �

�
�������������
�

Dn1 - n2 =
¶ n1 - n2

¶l

�  

�  
�  

�  

�  
�  

2

Dl 2 +
¶ n1 - n2

¶L

�  

�  
�  

�  

�  
�  

2

DL2 +
¶ n1 - n2

¶Df

�  
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�  

�  
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�  

2

D(Df )2 �

�

Dn1 - n2 =
n1 - n2

l

�  
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�  

�  
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2

Dl 2 +
n1 - n2

L
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2

DL2 +
l

2pL
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�
m= 0.91± 0.08           and           b = - 0.01± 0.04�
�
�����������
��	����
����������	��	����	���
���	���
 ��	
���������������������
1	��	�����	��/�
�
n1 - n2 ± Dn1 - n2 = (3.94± 0.45)´ 10- 3��
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